5.If f(x) =34+ V2 + Tz, find f~1(5)

1 2 3 4
A - B. - C. — D. — E.

6. Which of the following does NOT have an inverse function?
A.y:SiIlJ),—%S:BS% B.y=m3—|—2 C,y:

x? + 1
D. y=3€* E y=In(z—2), x> 2




7. The graph of a function g is obtained from the graph if f by first com-
pressing vertically by a factor of 3, then shifting to the right by 2units, and
then shifting up by 1 unit. What is g(x) =7

A fE+1)+2 B fF(EE+1) C ifx—-2)+1
D. 3f(x+2)—1 E. f(3(z—2))—1

8. Solve In(x? — 9) — In(x — 3) = 2

A e?—3 B. e24+3 C l—3 D i+3 E. e+ 3
. . L= L= .
e e

o [X=0 \ = 2
v

o
e (5 |

-
QQV\(\&H) _ e’L

HE=e® o«




9. Find all values of @ in the interval [O, 271'] satisfying
2sinzcosx +cosx =0

A & 3 B im 1l=x C = 7m 3w 1llmw D 2 4w
. .

2% 2 6° 6 >67 2 6

E. Nosuch values in given interval

MK g% + chgx = O >@ﬂ7‘)(5¢wx+j~)ﬂ

Vi x =0 = @

10. The altitude, in feet, of a drone ¢ seconds after it takes off is given by
3

t
h(t) = a + 4. What is the drone’s average velocity in feet per second

over the time interval [0, 3 }?

A1 B Z C 2 D9 E 27




47
11. Evaluate sin™?! (sin —3—)

27 T 47 27 0
A — B. —— C. — D. —— E. —
3 3 3 3
, - ‘g ) Lﬂ e
g (Em < 4, (—-fj—_-):..z
J 3

12. Write the trigonometric expression sin (tan_l u) as an algebraic expres-
slon in u.
1 1

u Uu
Al ———— B —4—m/m (6 —— D. ———
V1 + u? V1+u? VuZ —1 V1 —u?
U

E. ——
uz — 1




x—1 Jax+;43‘-|- 5“\

13. Find the limit: Iim

:c—)l\/ZLE—l—z W +b/
B. 5 C. — D. 10

>
b | OF

) 5
=l M(Jamas'w) = fpn Jaxkas 5

e @‘JL_%‘J X>1 X
ac}’@ =5

2
14. Find the limit: lim z2 cos ( )
x—0 €T

C. —oo D. oo E. DNE

SWQW
"‘(-D 2 X cao( )

/
SX>o \L{ }
Ca Y
O




t —_
15. Find the limit: 1lim !
t——2+ \/(t + 3)(t + 2)

A, oo B. —3 C. 3 D. DNE and is neither oo nor —oco

E. —oo

beaut. |x\= | %o 4f %20
i2t——4i /6 X4 0

16. Find the limit: lim 5

t—2~= t< — 4

1 1
A o~ B. —5 C. 5 D. DNE and is neither oo nor —oo

E. —o

= S |34 g —BED) g -dlker)

R S T t#f—m (D)
(€22)
/ 5> )ﬂi > -—Q
EN
|ag-gy| = ) WD 4 20 e t2 2
“(2‘(:*4),"'6 (Bt-4)<0 i.e, {42\




—x? 1+ 16

x2 4+ 5x + 4

A x=—1 B a=—-1, x =4 C. =1, £ = —4
D. z=-1, = —4 E. =4

17. Find all vertical asymptotes of f(x) =

223 + 16x? 4 30x . _
18. Suppose f(x) = . Which of the following state-

x3 + Ha?
ments arc correct?
(i) y = 2 is a horizontal asymptote M
(i) & = —5 is a vertical asymptote NO
(ii) lim f(z) = co NO
A. Only statement (i) B. Only statements (i) and (ii) C. Only

statements (i) and (iii) D. All three are correct E. Only state-
ments (ii) and (iii)

____4%@rﬁax(xigx445) __ﬁgﬁﬁj;&BD

X (x+5)
[F0= dxtb [ g %ﬁ"” 2
XM& %,iaﬂ-+<b

ﬂwvf%= DIE st
LMNBTOO fim %‘L:-—OO

*20"




21. Find the value of ¢ such that J is continuous at x = 2:

4 2 51
< m+@ if 2 < 2
T — 2
JF(z) =<
3 .
| tan(—-—), ifx>2
\ . 2x

A. e=6 B. Novalueofe C. e=3 D. ¢=—1

E. ¢=4 ,&/WI ’F(X)"—'-’ ‘F‘(&)

X2

"
/&M * 37
X_}_wc() /fb_»;af(x) JraM(Jl)
X< 2 et

2

o x-sSx{—C = 'l’%(
X?& X—2 7<~>a




VOFR—

26. The quantity }LIH(I} P represents which of the following?
—

A. f'(3) with f(z) = vz B. f/(6) with f(z) = vz
C. f'(—6)with f(x) = vVx+3 D. f(=3)with f(z) =+vz+9
B f(6) with f(z) = Vo + 3 |

8e® + 3e3®

202 _ 3T
@) Jim f(z) = —
(I lim f(z) =
(

27. If f(x) = , which of the following statements are TRUE?

r——00

ITI) f(x) has a vertical asymptote at z = In 2

A. Only (I) B Only (I) and (II) C. Only (I) and (IIT)
D. Only (II) and (IIT) E. All three are true

SEE NEXT PAGE
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